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=\ e

0.0210%sin(3az — 303.2)

Pitch= 0.2719 + 0.0000*za —9.81e—08*az +
za:10.0 0.0020*sin( az — 65.5) +
0.0216%*sin(3a0z — 304.2)

Pitch=0.2709 + 0.0000%za +2.00e—06%*az +
za:10.0 0.0021xsin( az — 30.4) +
0.0211xsin(3az — 305.7)

Pitch= 0.2709 + 0.0000*xza +2.27e—06xaz +
za:10.0 0.0017xsin( az — 46.8) +
0.0209%sin(3az — 305.9)
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Roll = —0.2085 + 0.0000%xza +%23%e—-05xaz
7za:10.0 0.0013*sin( az — 252.6) +
0.0414xsin(3az — 123.7

Roll = —0.2076 + 0.0000xza +9.5/e—-00xaz
7a:10.0 0.0027xsin( az — 242.4) +
0.0413xsin(30z — 124.2

Roll = —0.2046 + 0.0000*%za +2.61e—06x*az
za:10.0 0.0004xsin( az — 158.6) +
0.0413*sin(3az — 124.6

Roll = =0.2076 + 0.0000xza +8.96e—00xaz
za:10.0 0.0020xsin( az — 223.5) +
0.0417xsin(3az — 124.8
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